
3.4 1) log
2
(12) = log

2
(22 · 3)

= log
2
(22) + log

2
(3)

≈ 2 + 1,58 = 3,58

2) log
2

(√
5
)

= log
2

(

5
1

2

)

= 1

2
log

2
(5)

≈ 1

2
· 2,32 = 1,16

3) log
2
(45) = log

2
(32 · 5)

= log
2
(32) + log

2
(5)

= 2 log
2
(3) + log

2
(5)

≈ 2 · 1,58 + 2,32 = 5,48

4) log
2
(60) = log

2
(22 · 3 · 5)

= log
2
(22) + log

2
(3) + log

2
(5)

≈ 2 + 1,58 + 2,32 = 5,9

5) log
2
(0,3) = log

2

(

3

10

)

= log
2

(

3

2·5

)

= log
2
(3)− log(2 · 5)

= log
2
(3)−

(

log
2
(2) + log

2
(5)

)

= log
2
(3)− log

2
(2)− log

2
(5)

≈ 1,58− 1− 2,32 = −1,74

6) log
2

(

3

5

)

= log
2
(3)− log

2
(5)

≈ 1,58− 2,32 = −0,74

7) log
2
(1000) = log

2
(23 · 53)

= log
2
(23) + log

2
(53)

= 3 log
2
(2) + 3 log

2
(5)

≈ 3 · 1 + 3 · 2,32 = 9,96

8) log
2

(

25

6

)

= log
2

(

5
2

2·3

)

= log
2
(52)− log

2
(2 · 3)

= 2 log
2
(5)−

(

log
2
(2) + log

2
(3)

)

= 2 log
2
(5)− log

2
(2)− log

2
(3)

≈ 2 · 2,32− 1− 1,58 = 2,06

Algèbre : logarithmes Corrigé 3.4


